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Z = w1 X1 +weXo (51)
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5.3 UJUoboobob:200000
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X=[22, 38;
24, 51;
33, 45;
35, 45;
38, 46;
40, 48;
41, 52;
41, 46;
46, 52;
46, 49;
50, 50;
51, 48;
56, 51;
56, 47;
58, 57;
58, 42;
59, 39;
61, 51;
65, 61;
68, 68;]
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octave:69> X2=center (X)
X2 =

-25.40000 -11.30000
-23.40000 1.70000
-14.40000 -4.30000
-12.40000 -4.30000
-9.40000 -3.30000
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-7.40000 -1.30000
-6.40000 2.70000
-6.40000 -3.30000
-1.40000 2.70000
-1.40000 -0.30000
2.60000 0.70000
3.60000 -1.30000
8.60000 1.70000
8.60000 -2.30000
10.60000 7.70000
10.60000  -7.30000
11.60000 -10.30000
13.60000 1.70000
17.60000 11.70000
20.60000 18.70000

oooboooOooooooooDo
octave:68> sigma=std(X)
sigma =

13.0360 6.9744

O00 00000 sigma 0000000000000 Kronecker 000000
000000000 (Dooo200)00000

octave:72> den=kron(std(X),ones(20,1))

den =

13.0360 6.9744
13.0360 6.9744
13.0360 6.9744

13.0360 6.9744
13.0360 6.9744

0000000000 X,00000000000o0o0ooooo./oooo

octave:73> XS = center(X)./den
XS =
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-1.9484563 -1.620214
-1.795032  0.243749
-1.104635 -0.616541

1.350109 1.677566
1.580241  2.681238

0000000 «0000000000000000 OctaveDOOOOODO
0000oO0U0o0ooooooo)o
000000 correcoef() 0O ODOOOOOOOOODO

octave:75> Ril=corrcoef (XS)
R1 =

1.00000 0.51788
0.51788 1.00000

gbobooobooboooooboooooboobooog

octave:76> [v,1]=eig(R1)

v =

-0.70711  0.70711
0.70711 0.70711

0.48212 0.00000
0.00000 1.51788

000000000 1,520 048000000000 [0.707;0.707],[-0.707;0.707]
0oooo0o0O000000
oooooo
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0.707X; + 0.707X, (5.14)
—0.707X; + 0.707X; (5.15)
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octave:77> sum(diag(l))
ans = 2
octave:78> 1/sum(diag(1))

ans =

0.24106 0.00000
0.00000 0.75894

oooooobooogobg 076,024 0000

ooOoXSooooooooooogo

octave:81> XS*v(:,2)

ans =

-2.523428
-1.096922
-1.217055
2.140890
3.013321
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54 0O0O0OUOOUOUOOIL3OUOOOO
0000000000000000030000000000000

Octave:> Xadd=[61;62;56;64;66; 60;46;43;70;49; 54;52;62;68;68; 39;49;79;69;58];

o00o00o00O0XooooooXxsgoooooogoo

octave:91> X3=[X,Xadd]
X3 =

22 38 61

O00O0ooOoOOoOoOoOoOOODOOODODODOOOO doPCAMmOOOO

#doPCA.m

function [v,1,Xs]=doPCA(X)
[rows,cols]=size(X);
Xs= center(X) ./ kron(std(X),ones(rows,1));
R = corrcoef(Xs);
[v,1]=eig(R);

endfunction
gooooooooooon

octave:96> source("doPCA.m")
octave:97> [v,1,xs]=doPCA(X3);
octave:105> v
v =
0.607759 0.522738 0.597808
-0.728409 0.067114 0.681848
0.316307 -0.849848 0.421556
octave:106> 1
1 =
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0.42677 0.00000 0.00000

0.00000 0.91825 0.00000

0.00000 0.00000 1.65498
octave:107> xs

Xs =

-1.948453 -1.620214 0.219978
-1.795032 0.243749 0.317745
-1.104635 -0.616541 -0.268861
1.043266  0.243749 1.979798
1.350109 1.677566 1.002120
1.5680241 2.681238 -0.073326

gooo
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ooooboooobos3sboooo

Z1 = 0.60x1 + 0.68x5 + 0.42x3 (5.16)
Zoy = 0.52x1 +0.07z9 — 0.85x3 (517)
Zs = 0.6z — 0.73z5 + 0.322 (5.18)
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000000000000 (8e»ooooooo)o
boboobooboboboboboboboboobooboooooboooon
booobooboobobooooboboooboboouodie 02,000
O000000:;0000000000000D00000DOOOOODOOOOY/O
oooobooooboobooooobooooooon

5.0 OO0UOOOUOOOII:Ooood

gobbodoobbooobbboooooobboooobboooooobo
000000000 (@000 Daffertshofer e.al., Clin. Biomech. 19 (2004),
pp.415-418 000 0)

r1 = sin2nt (5.19)
xg = 0.5sin2mt (5.20)
x3 = cos2nt (5.21)

OooOoOO0O0O0O00OD0OOOO0OO000000O0Octave000O0O0OOOODO
00000000 PCAdatl.mOODOODODO

#PCAdatl.m
t=(1linspace(0,10,200))’;
xc=[sin(2*pi*t),0.5*%sin(2*pi*t),cos(2xpix*t)];

linspace(a,b,c) D00 [a,b] 0000000 c000D0000OOOOOODOOOO
oboooobooooooobooog
3000000000000 plet3 00000D0O0ODO

octave:80> source("PCAdatl.m")
octave:81> plot3(xc(:,1),xc(:,2),xc(:,3))

JOoboboooboobobobooooboobooooobobooooooboooo
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octave:84> Rxc=corrcoef (xc)

Rxc =

1.0000e+00 1.0000e+00  5.1159e-16

1.0000e+00 1.0000e+00  5.1159e-16

5.1169e-16  5.1159e-16  1.0000e+00
octave:86> [vc,lc]=eig(Rxc)

vCc =

7.0711e-01 5.1159e-16 7.0711e-01
-7.0711e-01 5.1159e-16 7.0711e-01
1.6065e-31 -1.0000e+00 7.2349e-16

lc =

-0.00000 0.00000 0.00000
0.00000 1.00000 0.00000
0.00000  0.00000  2.00000

obooobOooobobOOobOOoOooOOobOOoOoOOobOOoOobOboOooOoOobooooon
gbooooobooooonoo

gbOoboooobooobooboobobobobobobobobobobo
OO000000PCAdat2m 000000 sin00000O0COOOCODOOOO
goooooo

x1 = sin(2nt + noizey) (5.22)
xo = 0.5 xsin(27t + noizes) (5.23)
T3 = noizes (5.24)

noize 10000000 005000000 PCAdat2m OO0 Qd

#PCAdat2.m

n=1000;

na=0.05;
t=(linspace(0,10,n))’;

Noizel=randn(n,3)*na;
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tl = [t,t,t]+Noizel;
Noize2=randn(n,3)*na;
xc2=[sin(2*pi*t1(:,1)),0.5*sin(2*pi*t1(:,2)) ,zeros(n,1)]+Noize2;

googoobgooog

octave:170> source("PCAdat2.m")

octave:171> plot3(xc2(:,1),xc2(:,2),xc2(:,3))
octave:172> r2=corrcoef (xc2)

r2 =

1.000000 0.884643 0.012551
0.884643 1.000000 0.020536
0.0125561 0.020536 1.000000

octave:173> [vc2,1c2]=eig(r2)

vec2 =

0.7070327  0.0231963 0.7068003
-0.7071521  0.0141676 0.7069195
0.0063842 -0.9996305  0.0264202

1c2 =

0.11532 0.00000 0.00000
0.00000 0.99942 0.00000
0.00000 0.00000 1.88526

octave:174> rxl=xc2*vc2(:,3);
octave:175> rx2=xc2*xvc2(:,2);
octave:176> rx3=xc2*xvc2(:,1);
octave:177> plot(rxl)
octave:178> plot(rx2)
octave:179> plot(rx3)
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